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General and Research Aptitude Test

PAPER-I

Time Allowed/Ha 33T : 01.00 Hour/&veT Full Marks/qurid- 400

| INSTRUCTIONS /el

This question Booklet contains 50 Objective Type Multiple Choice
Questions (MCQ). Candidates are required to attempt all.questions as he/she can.
Bach' correct answer. carties 2 marks. Their is no negative marking. Duration of
exgmination is one hour. Each question in this Booklet is followed by four alternative
answers. Candidates are required to fill the appropriate circle compeletely of the
OMR sheet provided with this Booklet by using Blue/Black Eallpoint pen only.

Candidates are allowed to take out the question Booklet of Paper-I after
submitting their OMR sheet to invigilator in end of the examination. S
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Example :- LO®
frafafad ueA
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v Wl:ach question of the following has four multiple choice - (a), (b), () and (d). You have to darken the circle as given!
the OMR sheet with this Booklet on the correct answer against each question :- Sl !

QD
agfwedia ¥ — (), (@), (1) T () At AR, YT H W I @ T
Wﬁ%:m%ﬁw%%\aﬂmﬁﬁﬂmm

In what reference the scientific-method can be applicd :-

BNMUAL/ YU

01. f
(a) In Physics and Chemistry only (b)  InSocial Sciences only
. (c)~ . Inboth physical and social sciences (d) = Noncofthese.
L sfe—RRy o Sw 7wt 3 R o e = | B
N @) Paw AR &R AT § @ aa gl s A
@) R ok wrirs Re A Y (@) E W @ R
02. .. Which word marks action research ?
... (a) -~ Applied research b) Longitudinal research.
2 (o). Cross-sectional research (d)” Research performed to solve instant problems.
P 1 W e argaur B faffed e € ? ,
L @) g T (@ oergReww
e () TR () o oo Rl @ g @ fo R
- 203.  Which ofthe following is Non-probability sampling ?
o ' (@ 7 Quotasampling (b) ' Purposivesampling
' (¢ Simplerandom sampling (d) -+ Both(a)and (b)
" Prafrr ¥ B W e wed 2 7
(@) DRy ' (@)  AlieE-Ed
L) R agfeee waeEl @)  (®)Td (@)
04.  Which of the following is aresearch tool 7
(a) Graph (b)  Dlustrations
(c) Questionnaire (d)  Digram
fr=fafad § | @19 2 SUHT B ?
(@ WE b @) =
@@  weETEe @) mE
05. 'dejure and'de facto' process of data collection in research work is -
(a)~~" Primarydata (b)  Secondarydata .
(c) Both(a)and (b) . (d)  None ofthese.
ity B e iHE HY H 'de jure' T 'de factol AT 3T &
() wrafi SEel [IE (@) " faei arder Ao
LM @) i (@) Er (@) o T W DI A
06.  Good research work sharpens a scholar's : - _
(@  Readingability v | (b) Writingability
() Thankingability A (d) | Noneof these.
e g o @ W A SRS
(@)  uoH e AT (@) o e
Sy fRiaE e _ @) T W e
07.  Ethics inresearch work contains-, . .- v 114 :
(a) - Knowledge (b) Truth
() "Minimize error : (@ Allofthese
@ wwew @ v
1)




Reflection (b) Observation
') Deduetion () All ofthese
v 4 1 F leareaar dene ane an s wnfa L i
- wfafed () et
aeld) | () [ iR g
muv;, Declarative and Directional are thetypes of :-
{ - Synopsis : (b)  Research
[ypothesis ) }\hmu of these.
T, TR IR e wane e b thesst.
(@) N (1) [ B
(M  uR@er () g
[valuation research should aimat v d :cision making,
(a) People-based (b) Trend-based
(¢)  Data-based @) Situation-bused
TEATET AT o s Fofa 9% agRe A B ARy |
@)  @rr-araiid (@)  wgfa-smena
(1) Sty @  Ruf-snenRai
11. | Theword that conicide with the coincicencg of the sound iscalled =
(a)  Sound | (b) Resonancc |
{c) | Speech (d)  (Character
ﬁmwﬁu‘f?a@wﬁmmﬁ?ﬁwgma SRemE - |
@)  fq (@) et
m afy : @) @
12.  Devanagarialphabet of Hindi has touch dishes :-
@ 25 ) 28
() 126 @ 27
%&ﬁaﬁwmmmw\qﬂcm%:—
@) 25 (@) .28
(m) . 26 o 2
i3.  Fillin the blanks with the correct words from the given choices :-
Hemade .ooveeeeane but failed. * L EAES
(a) Attempt after attempts & “(b)  Attempts afterattempts
() pAtlempts afier attempt (@) Attempt afier attempt
14. " “The boy|...: . R W was Jazy has failed :- '
(a)  Which | , ) | Whosey
&l BWED B d) | Whom
15. | A e sninadiens knowledge 1sadangcrous thing. .
A OV Cueat | . (b) ' Little - i
b o - (d) Much g
16, ltis veryclbudy todaj | (3 rain.
. layiiMay () Would
W2, (c) vk iCan ; (@ Must,
17.  Whichofthe following is an equimedning statement ? iR
(1)  ManislikeaGod ~ (b)  Godis breat |
(c)  Gandhijecis father ofNaton ~  (d) ansanmlellcctual living being.
Freiferfr 9 1 T el e € 7
@) W~mnﬁm"é (w) ?F’iﬂﬂgﬁg

m i) g @ e E 1.6

iich of the following comprise the basis of hypothesis formulation ?

ﬁmwmmﬁ%
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Fill in the blanks :-

[Honesty is the best ....ocvciies
(a) Action -z (b) Jnkeﬂ ;
(c)-  Policy Ql/ (d) Publicity
o 1 A RN R R A 121 (R Bl € =
@) e L @ [ "ure

L (m AR @) | TER-SR
TO ..o ime-. is human; to forgiveis divine.

(b). em

2 ¢ @& o
L (o) \Forget
BER . . WFTERT TOT R, UR &P AT QAT YT B
' oy (@) D FTerdt BRAT

(d) Cheat

I ! Sk (‘fﬁ) : 31:3 m / \ z
NS i G (D et Q @) ErEr S
£y .20. . Select the odd one out ? -
. (a)"” - Crying . (k)  Frying
“ (c) Drying (d) Sweeping
i ﬁwﬁrﬁaﬁ 9 B JL wm 8-
@;}»’ e @ @) 9B
. ga @ e
21.: : The mtroductlon "Chanakya is intelligent" is an example of :-
(a) . Negative proposal ' D) Single stated proposal
(c) Empirical proposal (d) Non-valid proposal

- URKATGAT AT gfE AT B SSTER §
() | RIS WA (@) | U 9gT g
() AT B @) S U
22.  Logical sentence "Some flowers are pink" is an example of :-
(a) Universal affirmative _(b) ‘partial affirmative
(c) Universal negative (d) partial negative
T AT “HB Tl Yolldl 8 EMER © -
@)  adand AeReTS : @) I IhRAS
@  gdaard ABERAD L )  afTrerdt TeRTIE
Direction for Question No.- 24 and 25 :
From the following Assertion and Reason select the correct option.
UTT AT 24 UG 25: % foq e
Hr f2 7 arfied SR 9@ @ AR U HEl Gg BT TIT TN |
23. | Assertion (A): Any personis not complete
Reason (R): Some personsare not compléte

(a) Statement Ais false but R is true’
(b) Both A and R are true but R is not sufficient explanation for A

(e Both Aand R are true and R is a sufficient explanation for A
(d) - Aistrue butRis false.

Y (A) ;- BIg meHT Ul T8 B |
ES R) : T 3reH gof 78l € |

(@) FHUTAINIE, R RIT T
@ ARRIA 9 & g R,A & forw yata a@ 98 <ar 2

(M A 3R R @ 8 3R R, A & iy vaie @ aan' g |
&) AW g uwg Ry 2
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il in the blanks :-
lonesty is the bast ...«aunaei

a) Acion -§ (b) Joke
(c) Policy . (d) Publicity
| e gETa g, o gErh & -
(@) (@) | I
g Alla ) | WER-WRIR
o W W 18 hunman; to forgive isdiving.
(2) | 18 (b). = emr
(©) Forget (d) Cheat
.................... AR 1 8, G &TT HRAT écﬁn U 8
@) @ i Pras _(’7) T HRAT
() AL ol @) GIrCINCE]
20.  Selectthe odd one out ?
(u) Crying (b) Frying
©) Drying (d)  Sweeping
=i 4 9 $19 [ /T ® —
g e (f L (@) [ \
(@ [ gurr 2 @ s
21. © Thelintroduction "Chanakyais intelligent" is an example of =
(a) = Negative proposal _.(b) ' Single stated proposal
{c) Empirical proposal (d)  Non-valid proposal
USRI 0] gfenia &' Sameor § — \ : ( :
@) | TORe U @) TP gEd uEe o
() BICE I R E AR R . @) S WA .
22.  Logical sentence “"Some flowers are pink" is an example of =
(a) Universal aftfirmative (b)  ‘partial affirmative
(© Universal negative , (d)  partial negative o
@) e geres _ @)  srgerd FHRH e R ARG
@ Al TERIS 56 @ el AEReS
Direction tor Question No.- 24 and 25 :
From the following Assertion and Reason select the correct option. sl
U W&l 24 Ud 25 @ forg fadwy Rk o
e fad T apfrperd QIR 9@ & SR AR WEl S BT 9499 B9 |
23. | Assertion(A): Any personis not complete ‘ i : &0
Reason (R): Some persons are not complete : gy
(a) Statement Ais falsebutRistrue " ; ; g

(b) Both A and R are true but R is not sufficient explanation forA
Ae)® ¥ Both Aand Rare true and R is a sufficient explanation forA

(d) Alis true but R is false.

DA (A) : B ey gof & & |

@ (R): o e gof W @

(@) DUT A JEA R WY R AR v

@) A 3R R W € weg R, A @ RIv gafe qa w8 ar 8 b ke

(M AR RIE we € ik R, A & fore yafe as a1 2 kB

@) A g R Raw R




25

26.

273

@) A a7 R W & ] RyA @ @1 il q A

, and blame you for hurting the victim. What will be your first and fcremo
(a)  Torunaway )

n ironmental 1033 necessarily

help to stop ¢
control and environsie

»opulation control do not
(he means of population

Asscrtion (A): Means for|
ation between

Reason (R): Thereisa complex rel
(n) A is falsc but R is true
(b) Both A andR are truc bu
©) Both A and R arc truc and Risasul
(dy o Ads tryebut Ris false.
stfrre (A) | Steivan e d@ sl Q afaart T Q an
o (R) : Srreen (g @ gurd Jd qattaem @ 41 i

@) || Asst g R v
a1 g

{ R is not a suflicient explanation for A
ficient éxplanation (OF A
A L i, < e 3, ety
o e 7 4

(m AmkﬂmgaﬁzmAa‘,mwﬁmwﬁ:ﬂ%l

@ A e aiR Rawa 2

You arrive at the site ofa road accident that has just occured. Some ake false accusatiot

7

persons in the crow dm
st duty under the circumstances !

To reason with the people

(&) Togive firstaid to victim (d)  Toinformed the polic

: "\‘EITRY%'@T,mmmﬁﬁwﬁmﬁmaﬁgﬂmmm,mmrﬁnmzr-'nstmmﬁé

«gmgugmﬁazﬂmmméﬁﬁlwuﬁﬁuﬁﬁmqﬁmﬁmaﬁ g -
i & : RINAEILY ‘ @) o aE B
"Amnismua a:ﬁm. aﬁmwé (@  ofera @1 g )
speed with the current is 15km/hr and the speed of the currentis 2.5 km/hr. The man's s

peéd against th

" - current is =
@  85kmdr | - (b)  9km/hr
;(;—Zq R FITSI km/hr | ¥ () [ 125 knvhr
r@ :ma?fﬁ_ 18 R, /<1 & iR adwe @ TRY 28 FBaf /een & (@A @ qeny s @ Afy
(@) 85 fbid /ge @) 9 A /e e
gf) 5 10 f‘?ﬁ’ﬂ/ wie @) 425 5 der
clect the appropriate number from the given options for the blonk space.
/9% 864 749
(@ 6 (b) 7
-(C)\” 5 (d 4
@amrmraﬁﬁﬁvﬁmaﬁmﬁﬁzmﬁmgm
| 981 _ 864 749
2
P ¥ B ® AR 7 |
M Wi Wi W

28.

e 87 e ' @) 104

If L. stands for addition(+), M for substraction (-), N i ‘ i
, substraction (- ailtinlicati D
| 4Nl OLA2P2MS8 equals (-),N 195Ll‘nuluphmtmn (x)and P for Division (+), then
;2“ 327 o @ 104
L @t et GG (), M W 3iel e (<), N
R B s (=), N @it aref aqum (x) @ P oasr oidd e (=) w1 Ay 14N101.42P8
(@) 153 | @ 83




30,

31.

32;

BNMU/PAT/I9/GRAT/ §
ichofthe following gives the proper relationship
acitic Oceean

Water body

Oceean
(@) (1) (©) (d)
R addir o1 s i iy Yl 9 @ /e e 8 —
U BT RN
2 SNl

3. REArm

0 C-® ®
() () @)

@

ITCEJQ is coded as XVQJ then BDIP wilj be coded 4s :-
(@) WURQ (b)  YWRK
(c) WUPI ! (d) YWPI
SRCEIQ @1 %18 XVQI® & BDIp BT BIS G211 BRI —

@ WURQ @) AYWRE
@ (wuopr @ Ywrl

Direction for Question No. 31 to 35/ ysq H=T-31 9§ 35 ® ferg fodsr — \ B
In the foliowing table the population (in Lakh) of three Blocks are mentioned. Give correct_;f_; A
answer to questions :_lfte‘r's.tudying the data. ' | , i K o
ﬁﬁﬁawﬁmmﬁ?ﬁqmﬁm@@ﬁ) q{ma&mﬁh%lmm?
XA TY U B W) S @ : :

Block Year

(Population in lakh)
2014 | 2015 ] 2016 [ 2017 2018 | 2019

i T P F et

45 148 [52 [54 5.8 | 62

A
B 3.2 36 134 |38 |41 4.4
C ;

50" 1855 |58 “ltgn? 6.6 |6.9

During given years the average population in lakh of Block B ig - | iy RN oo
(S 3F b 34 (- 3. W _ 38

aﬁzom&mﬁaﬁzmsﬁ%AaﬁWfiuﬁmqﬁg%:—
@) 66 @) 666 W 6e6e @ 66664

.....

1.1 (@) 1.01




“th heks for ar 201818 -
The average population in lakh of three Blocks for I:c ye
(@) 5.5 . (b) = 58 (¢) 5.05 (d) 0.
Wl a9 allre e (e 7))

‘ 5
® ; 5.8 1] 505 () s . ‘
Sl 5 > jon growth js/area-

ad 2018 @ forv B -

The Block having maximum percentage ol populal
4 _ (a A ') m B &) aC (d) _ AandD both.
A ) o wigm srie i aten wes @ s
. B E Y E m  C @ = AandB both.
' 36.  MeghaPatekarbelongs o :- i B
Sl e () Koshi Project (b)  Mayurakshi Project
b \i (e}~ Narmada Project (d)™ None of'thesc.
Co v oRaR affg g frw Wistee @ BRoT -
R | s e e (@ e diee
G L - ofm) G R e Can @) TR e
il v A ;.Which of the following river meets Arabian Sea :-
.in (a) Mahanadi .(b)  Narmada
;;(é) ~ Kirishna: * (d) Kaveri
i e 'ﬁﬁ A PIF T IR AR A e @ -
-y (o) o HErE @)
A @) o P
. “Decibel" unitrelates with :- = = =
(a) ., 'Airpollution © | (b)  Water pollution
(c)~" Noise pollution (d)  None of these.
: SIS siE @ WIS H - ‘
. @)  arg uguY (@) ST ugT
(M el ggEor @ T eE A
39.  Which state is associaled with Tehri Dam :-
{a)' ¢ UP Ly UK.
(c) HP @ J&K.
e 9fy feu oy | Watm -
(®)  SwR-Y. @) SaRRES
@ R uew ®) . P-FER
40.  Who used the term "Biodiversity hotspots' first and foremost ?
Aa) Normun Mayer (b) /A.G Tansley
(c¢) = Charles Darwin (d) | None of these.
ARSI Blewie e o [qdyerd v s fvar —
@) - AR @) ‘gosfo @R
m ot sRfeE @) Qg
41.  Environmental education is important only at :-
(2}) Primary school stage (b) Sccondafy school stage
(¢)  College stage (d) - Allstages

yataRor Rien weeqef & daw -
B @) wafiE g R W @  wefE WA WROWR
‘ L (M W wx e (3)/ ETIAR: MU o
. (7 N\ Nl
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Vhech sector s .

the single largest consumer of fresh water in Indiq -
@ Indusiy (b)  Power

(¢)  Domestic (d)- A;,ru,ultum
IR AT W w1 gy ST SWE DI v oy §

() S (xd) mﬁm-

(0N v | Nlalg i
Maximum % of muog‘u In ouratmosphere is :+ |
o) 70 % i B0 %
(©)° 6% ) 78%
AR ARPRES ST W1 At % @
@) 709% @) 80 %
@) 00 %% @ 78%
4. Which start is the closest 1o the Earth ?
(@) Pole star (b)~” Alpha Century ( 9 .1
(¢)  Sun (d)  Capture
Bl W AR Tl 9 it wig & 2 = '
@) puEER @) | e
M @ @ | g
45. © Which of the followi INg Is not an inevitable factor of the environment ?
@ “Water (b)  Wind
| (©) Plant (d) Land _
| et 3 W 3 iR & il e w8 € 2
g @ o . (@ &@ i
(m @ g
’ - |
? 46.  Which of the following is not true about RAM ? ; ALY
; (@)  RAMis a temporary storage area (®) RAMis the same as hard disk storage |
(¢) RAMis volatile (d) (InformationstoredinRAM s deleted when
. we turn off the computer.
Fefcifad § 4 oF W @ foo 9@ wEi g ? ' :
@) W Ue SRURT HSRT &9 @) X EE R eRY & wE R S
G ¥ aRadsehia 8 G)) mﬁmﬁmmﬁ%m%ﬁw@a
. SR R o L
47.  Which one ofthe following would not be con31dered as a form of secondary storage ? i ”
(a) Flopy Disk (b)  Optical Disk
(¢) RAM - (d)  FlashDrive
Frefafera 3 & frd R s & w9 #§ 58 \rar o g g ?

®) v o @ ofulRw e
m W @ oo gy .




\Vhach one of the (ollowing is the most suitable for long time data slomqex?t

Hard Disk (b).
g (d) Memur)
[ - B l o
o.¢lose the currently a I

Flopy Disk
@ AlEG * m

(€)  Altardy Alt+F5
a‘dqm ‘\‘ ‘aﬁm ﬁi"@ RIRILIC G Ti'?-‘f & R afl—drs a0 Eﬁ‘rl R vifeare & ?
AP @  AIHEI

®@  AltiFS
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The figures ~ eright margin

=

B 1arks- 100
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Answer any five quesia. ¥
<"1 ,M..m.

¥~
Whit do vou ung
ittt C
| TR
\ e oles
g A
qe S

./ Describe the -
\ [ ¢ U mean Ist
O 2
' Distinosi-y !
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O1E NO. ovorimserssrasesnsseases

©BNMU
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g
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e
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o

Sy waFimcnt
R e
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idutes are required to give their answ, sty
T4} U e weEl § 81 I § @
@b izures in the right margin indicate fyy]] a . ,
L= AR ¥ R TR A s fafh %0 Z )

L er (rom all Groups as instructed,

A A Gef A SR S|

@ Group - A _
de-g 0 e |

ath of each answer should be 150 w roxima

T 4 ®H 150 HEARC R B
N Answer any five a:mmsgv of the following in3
I ¢ = 6 A T T e S
Cancumersequilibrium pointwould be always|
{31 Fge famg AR AWE AT T
in the concept of opportunity cost.
79 ST 71 ARV @ AR
w1t Jo vou understand by circular {1 e
sm 5 AT WOTE QT a7 ,
neeptof disguised unemployinent.
SR A Tﬂﬂ R

04. ,~ Explainthecon

il _ﬁ.E AGﬂﬁgmv ,
giinguich between Quantitative 5&9;&:&2

e A IRl R xﬁ.ﬁmma.
ihe dhe m::E: USQ%E.,E indzx.

et

s T R T G T T A

s S TR L 2 2, g
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200 words approximarcl §

Answer any four questions 10 = 40

v e G T @ EE——

ot. What are __F. a_ mpetition and monopol

02,
/\\\.

03,

0 \.«\ . , 1atma Gangly: 2
v TS & = QI g ?

05, Explain the role ational corporation iy India

aﬁdﬁﬂ.ﬂ.bﬂﬁz [

06. Explain c:a:, th N

John Robinson Model.
TIRYT 7} 5 peamy TRiT 7 Dt
__ _.n%a.r,__ 9

What are the maj

,_z% Q SR 1 o uf i WwEar A o WP

—> "

Soaliaht Shar wa .

L xpected length of each answer
s R @ W @ 500 el ¥
Answer any two questions of the

Fyafeifir w1 R Q'ﬁi

iscuss the wairasian Model of
& AT AT HiSe W
Discuss the causes and co_._o_l:o::n cricis.
AR aufefes wae ® BRvir g

SR alaRer G SEET R R ford |
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1 Descrlbe properties of Indifference curve.

quft

!

- 5. Discuss the characteristics of a good tax system.
Tt sl ool R fardiasd B s S

e “How can the economic development be measured ?
- 2 39

AAAAA

10.Distinguish between the Planning by inducement and Planning by direction.

e FrsE A PR e PR T e T HY

* %k

StudyOrigin.cO
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1.

M/

(o)1

Distinguish between trade gyele theory of Samuelson andthat of Hicks.

Aues L foam, B SR TF 9ard @ ae sja A

Discuss the role of NABARD in agriculturaldevelopment in India.

AR W Y & fowmm 7 Fae ®t iffie &) g9l wi

What are Special Economic Zones (SEZ) inIndia? Why have these become
controvertial in recent times.

WA H fawiy e @5 (SEZ) w0 22 wdnm 7 Q@ frarmer w9 w0 8

Discuss the role of Industry in India Economy.

TR Aeforaeen & I & aver =1 99 i

How do you explain Comparative advantage theory on the basis of opportu-
nity cost theory? .
firs W oY SR A ISR @ SYR T aeer @ S faer ) e w5

Derive the demand curve for a'Giffen Good' by using the indifference curve analysis.
STUHE Sk favels™ @ Iwam & gy e aw’ @ faw wi 9% aey

Trace the growth of the Central banks in India and Examine their present position:.

AR H HE Gl AR w w1 e W s s adm fef w wam i)

Explain the effect of International Labour organisation on Indian Labour
Legistation and Trade union.
WG 5T fauT qen g EW W SR 90 e @ awg 9 it w5

Discuss the factors responsiblefor the rise‘and fall of the Bretton woods system.
AT gEy e & 3 iR @R iy SrgR sl 5 faad S
Write short notes on following:

Ffafed o aferg fewf fad |
fa) [Reporate and reverse Repo rate 102 den fedf 91 12 =1 Sreg #23
'0) Qualitative control (Tumeres Frasm)

(c) Living wage and fair wage (frafe gl @en 3faw W)

(d) Harrod Domar model ()5-Thrr Hed)

ok
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